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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC&Dto
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided. ;

1.1. The IPV4 address is made up of_____binary bits: e la VA Ridipva 14
(A) 31 ) 29 ) (0) 30

2. E-mail stands for_____: ‘ e S 2
(A) Electrical mail U< (B) Electronic mail b2
(ﬁf Electronic medium by <) (D) Electronic message oo

3. Making illegal copies of sofiware is called : I‘L.H‘g'( t&Jﬂ&ih’iJ sl 3

(A) Hacking & 8) Pracy &4
(C) Counterfeiting (St f? (D) Sabotage U¥erf

4. s used for authentication to enter a system: 14,“{&0#"’4»”&&;#7&( LSSl
?f) Key (B) Piracy (7 (C) Patent =% (D) Password s

5. The______element is a container for meta data: e Skl 5
(A) <body> (B) <head> (©) <titie> ©) <htmi

6. tagis used for inserting a line break: :;.mﬂ)m.é___g S L 8
K <or> (B) <hr> (©) <u> b) <b>

7. _____is a graphical representation of an algorithm: :‘c/@ldgﬁuﬁfﬁ,m__ 7
(A) Matrix /¢ (B) Graph J!f (\6) Flowchart .:«Ag:ﬁ (D) Solution S

8. Which word refers to something spontaneous and unplanned? ?‘LLE)JIIKLSA,:"/:?HV@:( 8
(A) Actitout  5Tatef ‘ (é)/ Candid solution /32
(C) Prototype  =¥* (D) ToGuess  tdails!

9. Number "17" is equal to in binary system: :(‘_bmué____"ﬂ"/{}uif"’ djfg 9
{A) 10000 (B) 10110 (K) 10001 (D) 101000

10. is used to assemble more than one proposition :c‘_C%___;a‘rivvﬁf/"-igL;ﬂ)r..{l 10

into one proposition:

~ (A Simple proposition  oFigigule —(B) Mixed proposition_ cfigl . i e

(&T-Compound proposition 021‘;’!41'59‘_{ (D) Full proposition J”-J;,'b;
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2- Write short answers of any four parts from the following. 2x4=8
i. Write any two problem solving steps. ii. What is meant by the efficiency of an algorithm?

iii. What is the purpose of using terminal symbol in flowchart? iv. What is meant by divide and conquer rule?

v. What are two types of HTML tags? vi. What is meant by line break in HTML?

3- Write short answers of any four parts from the following. 2x4=8
i. Define OR Operator? ii. What is byte?

i Convert(156);; to-binary system: —iv—What-s-hard-disileading?—— ~ ——— ——————— .. e
e v. Define Piracy. vi, Define computer memory and write the names of its type. N
T 4 Wikte short answers of any four parts from the following. 2x4=8 T

i. Define the computer network. ii. What is file transfer protocol(FTP)?

iil. What is meant by protocoi? iv. What is simple mail transfer protocol(SMTP)?

v. What is meant by singular Tags?  vi. What is difference between Hyperlink and anchor?
Section-II 8x2=16
Note: Answer any two questions from the following.
5. What is meant by planning in problem solving?Describe in Detail.
6. Expiain the routing.
7. What is meant by encryption?Explain the importance of encryption for everyday life on the intermet.
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C&D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

1.1, Tag makes the enciosed text bold:
(A) <boid> (B) <bd>
2. Tag makes the enclosed text underiine:

(A) <p> (B) <b>

3. Which solutions are not reached through proper algorithms or

work planning?
(A) Prepared solution o/t
(C) Strategized solution J’u‘a'gd’f -’

4, Is a set of steps to solve a problem:
(A) Flowghart 2.6
(C) GueSs  osisi

5. Number "7" is equal to____in binary system:

TN

(A) 100@0 (B) 10110
6. 1Kb= 2 Byte:
Ay1000 " (B) 8

7. The receiver must be capable of accepting the

(A) Protocol Js%; (B) message (e

8. Routing is process of taking data from one device and seding it

e b L S i e GG 14

(C) <br> (D) <b>
e Ll bfig Lo

©) <u> (D) <>
;(Planning)vélg(e}mgvfd",/ 3

Sl
(B) Candid solution (/3.4
(D) Bestsolution Sy 7
:‘Lrtfcrfégﬁ/LL/J’.l’/__ 4
(B) Alogrithm

(D) Prototype +°
ic‘_L‘ﬁ/.’/.ﬁ*“ﬂ"rf;uff‘/ A 5
(C) 10001 (D) 10100
CWONEY LI
(C) 1024 (D) 4

&}? Ear FﬁL/J:f- w‘fd:‘rrlg T
(D) Information =i
& /1)/Ll§$¢.LT..gg,ﬁgﬁL¢Jf L;"..gu .8

(C) Adress (2.4

to another device in different____ - e b, T

(A) Channel % (B) Network /s (C) Path 4, (D) Area (/!
~9——disawayloprolectionidea. ... ___ = S :_%4_2- *L[_“\:)W L TL 8 —

(A) Patent 2ot —————B}-Copyight Law— w7ty _—— e

~ () Trade secrets ~ L7

10. Encoding of data is an example of i

(A) patent =% (B) Confidentiality S/l (C) Copyright L1

(D) Fraud &»
U EHodes 10
(D) Encryption (.65 "
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2- Write short answers of any four parts from the following. 2x4=8
i. What is meant by understanding problem? ii. What is meant by Candid Solution?
iii. What is purpose of usiﬁg the decision symbof in a flowchart? iv. Define Algorithm.
v. Which software is used to create a webpage? vi. Wiie the method of writing the attributes of the Tag.
3- Write short answers of any four parts from the following. 2x4=8
i. Write the use of truth table. ii. Define logical expression.
iii. Define memory and write the names of its types. iv. What is copyright Law?
v. Define encryption. vi. Write truth table of NOT Operator.
- 4- Write short answers of any four parts from the following. . 2xa=g _u::————:;_ -
il — L What are the pars-of message? i Define ATML tag <p>. -
ii. What is the function of Physical Layer? iv. Define the term FTP.

v. What is meant by Hypertext?
vi. How is a computer network helpful in increasing storage capacity?

Section -1I 8x2=16
Note: Answer any two questions from the following.
§. Explain defining a problem.
6. Explain the basic components of data communication.

7. Explain the types of cyber crime in detail.
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